LABJNDuO triangle lightness T*

T* =L w nc=100,

T*L aBaNDu9 =[IN[A 1n+A2YV)I/(A 20A0n)] (Yn/100<Y<=Y,c)
T#(3,6)=348.T* ,(18)=791,T*(90)=1231

LABJINDu9
tristimulus value difference

Yoc=L*w - nc=100,
T*LABINDU9 =[IN[(A 1n+A2aY)J/(A 2A0n)] (Ya/100<Y<=Y,c)
dY=Agn(A1+AzY)  Ag=0,017, A4,=0,0058
Aonpss=1,5, Aon a=1,0, see CIE 230:2019
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_ tristimulus value sensitivity
SHEYY Yoc=L*w - nc=100,
T*LaBINDU9 =[IN[(A 1n+A2nY)J/(A 20A0n)] (Ya/100<Y<=Y,c)
AY/Y=Ag[A 17 +AYTY
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Yw=90

Yn=3.6

log (Y/AY)
C,=(Y/AY)

LABJINDu9
tristimulus value contrast
Y=L *w - 6 :n=100,

T*LaBINDU9 =[IN[(A 1n+A2nY)J/(A 20A0n)] (Ya/100<Y<=Y,c)
YIAY=YIA on(AntAznY)]

T*,=791, dY,=0, 07 Y /dY

log(Y/dY)=2,37, m,= o,1§, P
-
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LABJINDu9 relative triangle lightness T*/T*,,
Ync_L w nc‘loov

T*LagaNDu9 =[IN[A 17+A2nY)V/(A20A0n)] (Ynd/100<Y<=Y,c)
T#(3,6)=348,T* ,(18)=791 T*,(90)=1231

log[T*/T,
L*, =49, T* ;=701

N=36 V=90

LABJNDu9 relative
tristimulus value difference

Yne=L*w ne=100,
T*Laganbuo =[IN[A 1n+A2nY)V/(A 20A0n)] (Ynd/100<Y<=Y,c)
dY/dY =AgnlA 1ntAYI/dY,

log(A Y/AY W)
AYIAY,
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1y,=18
Yw=90
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log [(AY/Y) I (AYIY)] LABJINDuO relative
tistimulus value sensitivit;
SISy =@YMIAYN), o dw S PR

T*Laganbuo =[IN[A 1n+A2nV)V/(A 20A0n)] (Yn/100<Y<=Y,c)
(@YIYYAYY,=(AgitAg Y)Y (AYIYY]
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log[(dY/YY(dY/Y)]=0, m=-0,13 1
* =791, dY,=0,07, d¥,/Y,=0,0042} ?g’%‘gm")”
1y,=18
=Clp log

YN=3.6

log [(Y/AY) I (YIAY),] LABJINDU9 relative
tistimulus value contrast

CrlCr=(YIRVIYIAY)y . 21w, ” 2 2100,

T*Laganbuo =[IN[A 1n+A2nY)V/(A 20A0n)] (Yn/100<Y<=Y,c)
(VY Y(YIAY), =Y IYIAY Y )TA onAqrAgr VI (Y/AY),

logI(V/dYY(Y/dY)]=0, mu Z0.13
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